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STATISTICS 

PART 3 PRACTICE EXAM 2 

Time – 1 hour and 30 minutes 

Number of multiple choice questions – 20 

Number of free response questions - 3 

 

1. 40% of the staff in a local school district have a master’s degree.  One of the schools in the district has 

only 4 teachers out of 15 with a master’s degree.  You are asked to design a simulation to determine the 

probability of getting this few of teachers with master’s degrees in a group of this size.  Which of the 

following assignments of the digits 0 through 9 would be appropriate for modeling this situation? 

(A) Assign “0, 1, 2” as having a master’s degree and “4, 5, 6, 7, 8, 9” as not having a degree. 
(B) Assign “1, 2, 3, 4, 5 ” as having a master’s degree and “0, 6, 7, 8, 9” as not having a degree. 
(C) Assign “0, 1” as having a master’s degree and “2, 3, 4, 5, 6, 7, 8, 9” as not having a degree. 
(D) Assign “0, 1, 2, 3” as having a master’s degree and “4, 5, 6, 7, 8, 9” as not having a degree. 
(E) Assign “7, 8, 9” as having a master’s degree and “0, 1, 2, 3, 4, 5, 6” as not having a degree. 

 
 
2. A study showed that persns who ate two carrots a day have significantly better eyesight than those 
who eat less than one carrot a week.  Which of the following statements is (are) correct? 

I. This study provides evidence that eating carrots contributes to better eyesight. 
II. The general health consciousness of people who eat carrots could be a confounding variable. 

III. This is an observational study and not an experiment. 
 

(A) I only 
(B) III only 
(C) I and II only 
(D) II and III only 
(E) I, II, and III 

 
 
3. You are designing a study to determine which of three brands of golf ball will travel the greatest 
distance.  You intend to use only adult mail golfers.  There is evidence to indicate that the temperature 
at the time of the test affects the distance traveled.  There is no evidence that the size of the golfer is 
related to the distance traveled (distance seems to have more to do with technique than bulk).  This 
experiment would best be done 

(A) by blocking on type of golf ball 
(B) by blocking on size of golfer 
(C) by blocking on size of the golfer and temperature 
(D) without blocking 
(E) by blocking on temperature 
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FREE RESPONSE 

Questions 1-3 

Spend about 45 minutes on this part of the exam. 
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2002 Form B Question 3 
2.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
  



2002 Form A Question 2 
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